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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 21 gSaA  

Please make sure that the printed question paper are contains 21 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 

ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj 
fy[kk mÙkj u dkVsaA 

SET : D 
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Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• Ñi;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk dijh{kk dijh{kk dijh{kk ds s s s 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

uksV %uksV %uksV %uksV % (i) lHkh ç'u lHkh ç'u lHkh ç'u lHkh ç'u vfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

 (ii) iz'u Øekad 1 esa lksyg lksyg lksyg lksyg (i-xvi) oLrqfu"B iz'u gSaA izR;sd iz'u ,d,d,d,d-,d ,d ,d ,d vad dk gSA 
iz'u (i) ls (viii) rd cgqoSdfYid iz'u gSaA izR;sd iz'u esa pkj fodYi fn;s x;s gSa 
ftlesa ls lgh lgh lgh lgh fodYi dk p;u dhft,A iz'u (ix) ls (xii) rd izR;sd iz'u dk mÙkj 
,d 'kCn,d 'kCn,d 'kCn,d 'kCn esa nhft, rFkk iz'u (xiii) ls (xvi) rd esa fjDr LFkkuksafjDr LFkkuksafjDr LFkkuksafjDr LFkkuksa dh iwfrZ dhft,A 

 (iii) iz'u Øekad 2 ls 11 rd vfr-y?kwÙkjkRed iz'u gSaA izR;sd iz'u nksnksnksnks-nksnksnksnks vadksa dk gSA 
izR;sd iz'u dk mÙkj ,d,d,d,d ;k nksnksnksnks okD;ksa esa vFkok dqN 'kCnksadqN 'kCnksadqN 'kCnksadqN 'kCnksa esa gksuk pkfg,A  

 (iv)  iz'u Øekad 12 ls 19 rd y?kwÙkjkRed iz'u gSaA izR;sd iz'u pkj&pkjpkj&pkjpkj&pkjpkj&pkj vadksa dk gSA 
izR;sd iz'u dk mÙkj yxHkx 50 ls 60 'kCnksa esa gksuk pkfg,A 

 (v) iz'u Øekad 20 o 21 fucU/kkRed iz'u gSaA izR;sd iz'u N%N%N%N%&&&&N%N%N%N% vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 100 ls 150 'kCnksa esa gksuk pkfg,A 

 (vi) lHkh fuca/kkRed iz'uksa esa vkarfjd NwV miyC/k gSA ,sls iz'uksa esa ls vkidks dsoy ,d ,d ,d ,d 
gh iz'u djuk gSA 
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Note : (i) All questions are compulsory. Marks of each question are 

indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) Objective Type Questions. Each 

question is of one mark. Questions from (i) to (viii) are multiple 

choice type questions. Each question carries four options, from 

which choose the correct option. Questions from (ix) to (xii) are 

one word answer questions and questions from (xiii) to (xvi) are 

related to fill in the blanks.  

 (iii) Question Nos. 2 to 11 are Very Short Answer Type Questions. 

Each question is of two marks. The answer of these questions 

should be in one or two sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer Type Questions. Each 

question   is of four marks. The answer of each question should 

approximately be in 50 to 60 words. 

 (v) Question Nos. 20 & 21 are Essay Type Questions. Each question 

is of six marks. The answer to these questions should 

approximately be in 100 to 150 words each. 

 (vi) Internal choice is available in all essay type questions. You have 

to attempt only one of the given choice in such questions. 

[ oLoLoLoLrqfu"B rqfu"B rqfu"B rqfu"B iz'iz'iz'iz'u u u u ] 

[ Objective Type Questions ] 
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  1. fn;s x;s pkj fodYiksa esa ls lghlghlghlgh fodYi dk p;u djsa %    

 Select the right option among the given four options :  

 (i) Hkkjr esa dE;qfuLV ikVhZ dh LFkkiuk fuEufyf[kr fdl o"kZ esa gqbZ \ 1 

  ¼d½ 1952 esa ¼[k½ 1924 esa 

  ¼x½ 1964 esa ¼?k½ 1934 esa 

  In which year the Communist Party of India was formed ? 

  (a) Year 1952 (b) Year 1924 

  (c) Year 1964 (d) Year 1934 

 (ii) 1980 esa gq, 7osa yksdlHkk pquko esa dkaxzsl ikVhZ dks fdrus yksdlHkk LFkkuksa ij fot; 
feyh \ 1 

  ¼d½ 350 ¼[k½ 353 

  ¼x½ 363 ¼?k½ 373 

  In the Seventh Lok Sabha Elections held in 1980, how many seats 

of Lok Sabha, were won by the Congress Party ? 

  (a) 350 (b) 353 

  (c) 363 (d) 373 

 (iii) ns'k esa izFke xSj&dkaxzslh iz/kkuea=h fuEufyf[kr esa ls dkSu cuk \   
 1 

  ¼d½ Jh txthou jke  

  ¼[k½ pkS/kjh pj.k flag 
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  ¼x½ Jh eksjkjth nslkbZ 

  ¼?k½ Jh vVy fcgkjh oktis;h 

  Who was the First Non-Congress Prime Minister of India ? 

  (a) Sh. Jagjeevan Ram 

  (b) Ch. Charan Singh 

  (c) Sh. Morarji Desai 

  (d) Sh. Atal Bihari Vajpayee 

 (iv) vkikrdky ds nkSjku gq, fdl laoS/kkfud la'kks/ku dks ^y?kq lafo/kku* rd dgk x;k gS \
  1 

  ¼d½ 38ok¡ la'kks/ku 

  ¼[k½ 39ok¡ la'kks/ku 

  ¼x½ 40ok¡ la'kks/ku 

  ¼?k½ 42ok¡ la'kks/ku 

  Which Constitutional amendment during emergency was called a 

'Mini Constitution' ? 

  (a) 38th amendment 

  (b) 39th amendment 

  (c) 40th amendment 

  (d) 42nd amendment 
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 (v) ^vk;k jke] x;k jke* dk eqgkojk fuEufyf[kr fdlls lEcfU/kr gS \  

 1 

  ¼d½ fefJr ljdkj ¼[k½ tkfrokn 

  ¼x½ ny cny ¼?k½ lkEiznkf;drk 

  The phrase of 'Aaya Ram, Gaya Ram' is related to which of the 

following context ? 

  (a) Coalition Government 

  (b) Casteism 

  (c) Defection Politics 

  (d) Communalism 

 (vi) eaMy vk;ksx dh flQkfj'kksa dks fdl o"kZ esa ykxw fd;k x;k Fkk \ 1 

  ¼d½ 1971 esa ¼[k½ 1977 esa 

  ¼x½ 1990 esa ¼?k½ 1991 esa 

  The recommendations of Mandal Commission were issued in the 

following year : 

  (a) 1971 (b) 1977 



 ( 7 )          3614/(Set : D) 

3614/(Set : D)          P. T. O. 

  (c) 1990 (d) 1991 

 (vii) vHkh rd xqVfujis{krk ds fdrus f'k[kj lEesyu gks pqds gSa \ 1 

  ¼d½ 14 ¼[k½ 17 

  ¼x½ 16 ¼?k½ 18 

  How many Non-alignment Summits were held till now ? 

  (a) 14 (b) 17 

  (c) 16 (d) 18 

 (viii) Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk dc gqbZ \ 1 

  ¼d½ 1885 esa ¼[k½ 1886 esa 

  ¼x½ 1905 esa  ¼?k½ 1895 esa 

  When was Indian National Congress   formed ? 

  (a) In 1885 (b) In 1886 

  (c) In 1905 (d) In 1895 

 fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn,d 'kCn,d 'kCn,d 'kCn esa nsa % 

 Answer the following questions in one word : 

 (ix) jktho&yksaxksoky le>kSrk dc gqvk \ 1 
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  When was Rajiv-Longowal Accord took place ? 

 (x) Hkkjr&ikfdLrku ds chp d'ehj fookn ij vesfjdk us fdldk lkFk fn;k \  

 1 

  On the Kashmir issue between India & Pakistan, America stood by 

which country ? 

 (xi) 1881 esa fo'o dk izFke fctusl Ldwy dgk¡ [kqyk Fkk \ 1 

  In 1881, where the First Business School of the world was opened ? 

 (xii) vesfjdk ds izFke v'osr jk"Vªifr dkSu Fks \ 1 

  Who was the First Black President of         U. S. A. ? 

 fjDr LFkkuksa dh iwfrZ djsa % 

 Fill in the blanks : 

 (xiii) ̂ lkdZ* (SAARC) dk lfpoky; ………….. esa fLFkr gSA    1 

  Secretariat of 'SAARC' is situated in ……… . 

 (xiv)  ikfdLrku dh LFkkiuk lu~ ………….. esa gqbZA 1 

  Pakistan was formed in the year ………….. . 

 (xv) la;qDr jk"Vª la?k dh LFkkiuk dk eq[; mís'; ………….. gSA   
 1 

  The main aim of establishment of U. N. O.      is ………….. . 
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 (xvi) lqj{kk ifj"kn~ ds LFkk;h lnL;ksa dh dqy la[;k ………….. gSA   1 

  The total number of the permanent members of Security Council 

is ………….. . 

[ vfrvfrvfrvfr-y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed iz'iz'iz'iz'uuuu    ] 

[ Very Short Answer Type Questions ] 

  2. ns'k&foHkktu ds le; d'ehj dk jktk dkSu Fkk \ 2 

 Who was the king of Kashmir at the time of Partition of the country ? 

  3. izsl lsaljf'ki fdls dgk tkrk gS \ 2 

 What do you mean by Press-Censorship ? 

  4. opuc) U;k;ikfydk ls vkidk D;k vfHkizk; gS \ 2 

 What do you understand by Committed Judiciary ? 

  5. efgyk l'kfDrdj.k dk D;k vFkZ gS \ 2 

 Give the meaning of Women Empowerment. 

  6. lwpuk ds vf/kdkj dk vkUnksyu dc 'kq: gqvk rFkk bldk usr`Ro fdlus fd;k \ 2 

 When the movement for Right to Information was introduced and who 

had lead it ? 

  7. dsUnz esa bl le; fdl jktuhfrd ny dh ljdkj gS \ 2 
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 Which Political Party is ruling at the Centre now- a-days ? 

  8. ^isaVkxu* vesfjdk esa D;k gS \ 2 

 What is 'Pentagon' at America ? 

  9. ^lkdZ* (SAARC) ds izkjfEHkd lnL; ns'kksa dh la[;k fdruh  Fkh \ buds uke fy[ksaA 2 

 How many Preliminary members (country) were there in 'SAARC' ? Give 

their names. 

10. la;qDr jk"Vª la?k (U. N. O.) ds dksbZ nksnksnksnks  fl)kUr crkb,A 2 

 Write any two principles of United Nations Organization (U. N. O.). 

11. ;q) dh fLFkfr esa fdlh ns'k ds ikl eq[; fodYi D;k gksrs gSa \  

2 

 What are the main options with the country at the time of War ? 

[ y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed y?kwÙkjkRed iz'iz'iz'iz'uuuu    ] 

[ Short Answer Type Questions ] 

12. fu;ksftr fodkl dh dksbZ pkjpkjpkjpkj miyfC/k;k¡ fy[ksaA 4 

 Write any four achievements of planned development. 

13. Hkkjr }kjk xqVfujis{krk dh uhfr dks viukus ds dksbZ pkjpkjpkjpkj dkj.k fy[ksaA  4 
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 Write any four causes for the adoption of Non-alignment Policy in 

India. 

14. Hkkjr esa {ks=okn ds dksbZ pkjpkjpkjpkj dkj.k fyf[k,A 4 

 Write any four causes of Regionalism in India. 

15. xBcU/ku ljdkj dk D;k vFkZ gS \ 4 

 What is the meaning of Coalition Government ? 

16. vesfjdh opZLo ls fuiVus ds dksbZ pkjpkjpkjpkj  lq>ko nhft,A 4 

 Give any four suggestions to tackle with American dominance. 

17. ^lkdZ* (SAARC) ds eq[; mís'; D;k gSa \ 4 

 What are the main objectives of 'SAARC' ? 

18. Hkkjr ekuo vf/kdkjksa dk izcy leFkZd D;ksa gS \ dksbZ rhurhurhurhu dkj.k crkdj Li"V dhft,A 4 

 Why India is strong supporter of Human    Rights ? Give any three 

reasons to clarify it. 

19. oS'ohdj.k ds jktuhfrd i{k dh O;k[;k djsaA 4 

 Explain the Political aspect of Globalization. 

[ fucU/kkRed fucU/kkRed fucU/kkRed fucU/kkRed iz'iz'iz'iz'uuuu    ] 

[ Essay Type Questions ] 
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20. LorU= Hkkjr ds lkeus eq[; pqukSfr;k¡ D;k Fkha \ 6 

 What were the main challenges in front of Independent India ? 

vFkokvFkokvFkokvFkok 

OR 

 Hkk"kk ij jktuhfrd fookn dh leL;k dk o.kZu djsaA 

 Explain the problem of Political Controversy on the issue of Language. 

21. oS'ohdj.k ds udkjkRed i{k dk o.kZu djsaA 6 

 Explain the negative aspect of Globalization. 

vFkokvFkokvFkokvFkok 

OR 

 ^ewyoklh* ls D;k vfHkizk; gS \ ewyokfl;ksa ds vf/kdkj dkSu&dkSu&ls gSa \ 

 What is the meaning of 'Indigenous People' ? What are their rights ? 

ssss     

 


